
review questions:  PERSONALITY


Multiple-Choice Questions:
2. The enduring and distinctive thoughts, emotions, and behaviors that are characteristic of an individual comprise

A.
the conscious.

B.
the super ego.

C.
personality.

D.
consciousness.

3. In psychology, the study of personality focuses on

A.
change.

B.
stability.

C.
external factors.

D.
learned factors.

4. According to Freudian theory, our distinctive personality results from the

A.
constant interaction among the conscious, unconscious, and preconscious levels of the mind.

B.
balance between the life instinct and death instinct.

C.
continuous struggle among the id, ego, and superego for dominance.

D.
disequilibrium between the reality principle and the pleasure principle.

5. As you take your exam, you probably are not aware of how hard the chair is that you are sitting in.  Now that it has been brought to your attention, you become more aware of the chair’s hardness.  Freud would argue that this information was stored in your

A.
unconscious.

B.
preconscious.

C.
id.

D.
frontal lobe.

6. The iceberg analogy is used to represent Freud’s personality structure because

A.
it demonstrates the nature of personality as a huge destructive force.

B.
it represents the chilling and amoral view of human existence.

C.
it shows that most important processes occur beneath the level of consciousness.

D.
the size of the iceberg represents egocentrism and its location in the ocean isolation.

7. Which of these was not proposed by Freud as one of the three elements of personality structure?

A.
superid 

B.
superego

C.
ego

D.
id

8. When Darryl is insulted by a rude remark from another driver, he jumps out of his car and tries to hit the other driver. Freud would say Darryl’s behavior is being driven by

A.
superego.

B.
reality principle.

C.
id.

D.
ego.

9. Which personality structure is completely unconscious and consists of instincts?

A.
ego

B.
id

C.
superego

D.
superid

10. According to Freud, the _____ operates according to the pleasure principle.

A.
id

B.
ego

C.
superid

D.
superego

11. Which of these statements is most applicable to the pleasure principle?

A.
It means that immediate gratification of basic impulses is sought.

B.
It is entirely within the conscious realm of personality.

C.
It is the motivational principle that guides the ego.

D.
It is concerned with doing what satisfies others.

13. Which personality construct negotiates the relationship between the demands of the pleasure principle and existing reality?

A.
ego

B.
id

C.
superego

D.
unconscious

14. The relationship of the id to the ego is the same as the relationship of the _____ to the _____.

A.
hedonistic principle; morality principle

B.
morality principle; hedonistic principle

C.
reality principle; pleasure principle

D.
pleasure principle; reality principle

15. Melinda forgot about a quiz in her English course, and she could not afford to fail.  She cheated off the test of a student seated nearby, even though she knew cheating is immoral.  Later on she felt guilty about what she had done.  Melinda’s guilt can be attributed to the

A.
ego.

B.
id.

C.
conscience.

D.
ego-ideal.

16. Tina steals a candy bar from a local store and she later feels guilty about what she has done.  Freud would argue that the guilt emanates from the conscience, which can be found in the _____.

A.
id

B.
ego

C.
superego

D.
superid

17. A psychopathic killer shows no remorse or sign of guilt following an attack on a public building. From Freud’s psychoanalytic perspective, this person has an

A.
overdeveloped ego‑ideal.

B.
underdeveloped conscience.

C.
overdeveloped ego. 


D.
underdeveloped id. 

18. In fixation, an individual becomes locked into a(n)

A.
earlier developmental stage.

B.
later developmental stage.

C.
uncomfortable developmental stage.

D.
adolescent developmental stage.

19. Which of the following represents the correct sequence of stages in Freud’s psychosexual model?

A.
anal, oral, genital, phallic

B.
phallic, genital, anal, oral

C.
oral, anal, phallic, genital

D.
genital, anal, oral, phallic

20. In Freud’s theory of personality development, the _____ is the focus of sexual pleasure during infancy.

A.
anal region 

B.
genital region

C.
mouth

D.
ear

21. In Freud’s theory, at which stage of development is the source of pleasure directed toward the elimination of bodily wastes?

A.
oral

B.
phallic

C.
anal

D.
genital

22. You have observed that Sean, age 5, has a strong, affectionate attachment to his mother. Freudian theory explains this behavior as an illustration of the

A.
anal complex.

B.
Oedipus complex.

C.
genital complex.

D.
Electra complex.

23. Which of these behaviors reflects the Oedipal conflict in Freud’s theory?

A.
A child compulsively puts objects into her mouth.

B.
A 12‑year‑old boy becomes aroused when looking at pornography.

C.
A boy tells his mother that he loves her and debases his father.

D.
A girl makes a penis from modeling clay and attaches it to her favorite doll.

24. A 6‑year‑old boy combs his hair just like his dad and begs his mom to buy him shoes, belt, and eyeglasses just like his dad’s. In Freud’s theory, the boy has

A.
entered the genital stage.

B.
formed a set of central traits.

C.
resolved the Oedipal conflict. 

D.
regressed to the oral stage. 

25. According to Freud’s theory of personality development, people establish mature sexual relationships during the _____ stage.

A.
oral

B.
anal

C.
phallic

D.
genital

26. Victims of child abuse, rape, or incest might not recall the incident or may remember only few details. Freud suggested that the reason for this is that the defense mechanism of _____ was applied.

A.
denial

B.
projection

C.
sublimation 

D.
repression 


27. A divorced man is asked about his wedding day with his ex‑wife who later deserted him. He replies, “I don’t remember much about it; I think it rained.” His inability to recall details of that day suggests that he applies the Freudian defense mechanism of

A.
projection.

B.
regression.

C.
repression. 

D.
sublimation. 

28. Which of the following is the most powerful of all defense mechanisms, its primary function being to push unacceptable impulses out of awareness?

A.
fixation

B.
reaction formation

C.
regression

D.
repression

29. A smoker avoids worrying about the health risks of her habit by thinking, “Those lab studies prove nothing except that test animals should not smoke.” She applies the Freudian defense mechanism of

A.
rationalization.

B.
displacement.

C.
sublimation. 

D.
repression. 

30. The Freudian defense mechanism of _____ is applied when a person refuses to believe her doctor’s diagnosis that she has cancer.

A.
rationalization

B.
denial

C.
regression 

D.
sublimation 

31. A seven-year-old child was angry with her school teacher, but was unaware of it. After school, she resolved her feelings of frustration by kicking her four-year-old brother. Which of Freud’s defense mechanisms is this child displaying?

A.
projection

B.
sublimation

C.
displacement

D.
regression

32. Redirecting our instinctual urges of sex and aggression into socially acceptable behavior is termed

A.
sublimation.

B.
projection.

C.
denial.

D.
reaction formation.

33. Jeff experiences strong aggressive feelings toward his overprotective stepfather. Because he is powerless to aggress openly against his stepfather, Jeff becomes a very aggressive player on his basketball team. According to Freud, this is an example of

A.
castration anxiety.

B.
sublimation.

C.
repression.

D.
displacement.

34. According to an art history legend, the Renaissance painter Michelangelo and his wife abstained from intercourse during the four years when he painted his masterpiece, the Sistine chapel ceiling. They believed that abstinence improved his art. This demonstrates the defense mechanism of

A.
rationalization.

B.
denial.

C.
sublimation. 

D.
displacement. 

35. When we attribute our own shortcomings, faults, and problems to others, we are using which defense mechanism?

A.
sublimation

B.
projection

C.
reaction formation

D.
regression

36. Vivian loses most of her possessions in a house fire. Rather than mourning her losses, she keeps insisting that “material things are not important.” Her response to this tragedy may be an example of

A.
displacement.

B.
projection.

C.
intellectualization.

D.
sublimation.

37. A prisoner fears for his life while incarcerated in a maximum security cell because of the threats made by other prisoners. One morning, the guards find him curled up into a “fetal‑crouch” posture in his jail cell. The prisoner has used the defense mechanism of

A.
projection.

B.
repression.

C.
denial. 

D.
regression. 

38. Regarding Freud’s theory, psychologists generally agree that

A.
it has greatly influenced psychology and Western culture.

B.
“pleasure zones” of the body identify the developmental stages.

C.
personality disorders of radical feminists are based on “penis envy.”

D.
the ego’s failure to cope with anxiety causes mental disorders.

39. Cross‑cultural psychologists criticized Freud’s theory mainly because he

A.
did not regard defense mechanisms as universal.

B.
based it entirely on a narrow segment of Victorian society.

C.
characterized nonwestern societies as primitive and ignorant.

D.
failed to emphasize the importance of penis envy.

40. Carl Jung’s idea of the collective unconscious states that we share

A.
inherited universal ideas, wishes, and memories.

B.
common learning experiences in childhood or infancy.

C.
tendencies to sacrifice ourselves individually for the group.

D.
ideas that arise from, and are specific to, one’s own culture.

41. According to Carl Jung, inherited unconscious memories passed down from generation to generation are called

A.
the personal unconscious.

B.
archetypes.

C.
mandalas.

D.
the collective unconscious.

42. Many Jungian archetypes are indirectly measured by the _____, a test that is used by many organizations to match job applicants with appropriate kinds of jobs.

A.
Minnesota Multiphasic Personality Indicator (MMPI)

B.
Myers-Briggs personality test

C.
Wechsler Intelligence Scale

D.
Thematic Apperception Test

43. An early (c. 1937) neo‑Freudian who championed women’s issues was

A.
Leta Stetter-Hollingworth.

B.
Mary Caulkins. 

C.
Karen Horney. 

D.
Louisa Rhine.

44. Karen Horney’s primary criticism of Freud’s theory revolved around the concept of

A.
penis envy.

B.
oral fixations.

C.
the ego-ideal.

D.
archetypal images.

45. Which psychodynamic theorist believed that people strive for superiority as a way of self-improvement and perfection?

A.
Karen Horney

B.
Sigmund Freud

C.
Carl Jung

D.
Alfred Adler

46. Throughout history, short men such as France’s Napoleon and Germany’s Heinrich Himmler have struggled tenaciously to achieve and maintain political power. This may be an effort to overcome what neo‑Freudian Alfred Adler called the

A.
restraints of the superego. 

B.
inferiority complex. 


C.
fear of castration anxiety.

D.
rule by cardinal traits.

47. The basic assumption shared by trait theorists is that

A.
the unconscious mind is the underlying source of our traits.

B.
an individual’s traits are consistent across different situations.

C.
people possess the traits to the same degree but differ in how they choose to apply them.

D.
traits are learned habits that are modified by reinforcers.

48. Which of the following categories was not a component of Gordon Allport’s trait theory?

A.
cardinal traits

B.
secondary traits

C.
central traits

D.
identity traits

49. Mother Theresa devoted her entire career to serving the urban poor in Calcutta, India. Her humanitarian service consumed nearly all of her time for her last 50 years. In Gordon Allport’s personality theory, she had the _____ trait of selfless generosity.

A.
cardinal

B.
central

C.
libidinal 


D.
secondary 


50. According to Allport, people who possess a single cardinal trait are

A.
difficult to classify.

B.
rare.

C.
eccentric.

D.
maladjusted.

51. Gordon Allport believed that most people possess anywhere from _____ central traits in their personality.

A.
5-10

B.
15-20

C.
25-30

D.
35-40

52. You call your parents and tell them your roommate likes loud music, pizza, and staying up late at night. According to Allport’s theory, these characteristics are _____ traits.

A.
cardinal

B.
central

C.
primary

D.
secondary

53. Dwight prefers cats to dogs, loves Thai food, and likes to see foreign films. Gordon Allport would classify these characteristics as

A.
secondary traits.

B.
peripheral traits.

C.
cardinal traits.

D.
central traits.

54. In Raymond Cattell’s personality theory, the basic dimensions of personality are known as _____ traits.

A.
unconscious

B.
cardinal

C.
central 

D.
source 

55. In Hans Eysenck’s personality theory, which trait dimension relates to the degree to which a person distorts reality?

A.
neuroticism

B.
conscientiousness

C.
psychoticism 

D.
extraversion 

56. The Big Five in personality theories refers to which of the following?

A.
A set of fundamental traits such as neuroticism and openness to experience.

B.
The group of personality theorists who criticized Freud’s theory as too sexual.

C.
The effect of positive reinforcement on acquiring new behaviors.

D.
The number of stages in Freud’s theory of development.

57. Which of these is not among the Big Five factors of personality trait theory?

A.
aestheticism 

B.
neuroticism 

C.
openness to experience

D.
extraversion

58. According to Big Five theorists, traits like discipline and impulsivity are components of the personality factor of

A.
agreeableness.

B.
openness to experience.

C.
conscientiousness.

D.
emotional stability.

59. Shelby is a very outgoing person who likes being around other people and socializing with them. According to the Big Five trait theory of personality, Shelby would be considered

A.
showing signs of her masculine archetypes in her collective unconscious.

B.
high on the stable and enduring personality disposition known as extraversion.

C.
conditioned through past reinforcements to be uncomfortable in social settings.

D.
using defense mechanisms to protect herself from feelings of inferiority.

60. David is good-natured, trusting, and helpful. He is never rude or irritable. David is high on which Big Five personality trait?

A.
extraversion
B.
neuroticism

C.
openness to experience

D.
agreeableness

61. Which of the following accurately reflects a major criticism of trait theories of personality?

A.
Research has revealed that traits generally are not consistent across situations.

B.
Trait theories have been unable to compare one person’s personality with another.

C.
Trait theories have done little to offer ways of measuring personality.

D.
Trait theories merely describe personality rather than explain behavior.

62. Unlike psychodynamic approaches to personality, the learning approach emphasizes

A.
latent personality structures.

B.
self-actualization processes.

C.
the outer person. 

D.
biological traits. 

63. Whose ideas are the basis of the behaviorist approach to personality?

A.
Carl Rogers

B.
Inge Tellegen.

C.
Albert Bandura

D.
B. F. Skinner

64. Who would be most likely to say that a person's dishonesty is caused by environmental factors?

A.
Skinner

B.
Freud

C.
Rogers

D.
Jung

65. Which of these issues would be of greatest concern to a social cognitive personality theorist?

A.
the effects of group dynamics on a person’s moods and feelings

B.
whether traits of parents and those of their child are associated

C.
how fixation at the anal stage affects one’s adult behavior

D.
the impact of cartoon violence on preschoolers’ aggression

66. Bandura’s social cognitive theory of personality stresses the observation of adult behaviors as well as the concept of _____ in the development of a child’s personality?

A.
genetics

B.
the unconscious

C.
conditioning

D.
modeling.

67. According to Bandura, self-efficacy represents a person’s belief that

A.
the environment regulates human behavior.

B.
the unconscious id dominates personality.

C.
people can master situations and produce positive outcomes.

D.
the effects of negative childhood experiences cannot be overcome.

68. _____ is the component of personality that encompasses our positive and negative self-evaluations.

A.
Self-harmony

B.
Self-ideal

C.
Self-esteem

D.
Self-efficacy

Stress unit: from text and from notes

5. Which of these topics would be most interesting to health psychologists?

A.
patients’ application of relaxation techniques to control pain

B.
the impact of a stressful environment on attitude and personality

C.
illegibility of handwriting

D.
the science courses required of a pre-medicine student

6. The body’s response to physical and psychological demands is called

A.
stress.

B.
tension.

C.
arousal.

D.
pressure.

7. According to research, which of the following statements regarding stress is true?

A.
Positive stress is more common than negative stress.

B.
Both pleasant and unpleasant events can produce stress.

C.
Positive stress is more detrimental to health than negative stress.

D.
Pleasant events produce biological but not psychological stress responses.

8. The severity of stress tends to be greatest when

A.
important goals are threatened.

B.
the anticipation of stress is temporary.

C.
the stress will occur in the future.

D.
the threat is technological.

9. The terrorist bombing of the World Trade Center was which type of stressor?

A.
daily hassle

B.
cataclysmic event

C.
personal stressor 

D.
background stressor 

10. Which event would be considered an example of a cataclysmic stressor?

A.
Failure of an alarm clock to go off in the morning.

B.
The death of a close family member.

C.
A recent earthquake in Pakistan.

D.
The loss of an election by one’s preferred candidate.

11. Which of the following statements about cataclysmic events is true?

A.
They tend to produce both short- and long-term stress.

B.
They tend to produce short- but not long-term stress.

C.
They tend to produce long- but not short-term stress.

D.
They tend to produce neither short- nor long-term stress.

12. Stressors that affect the individual alone and produce an immediate major reaction are known as

A.
personal stressors.

B.
psychic stressors.

C.
cataclysmic stressors.

D.
daily stressors.

13. Which of the following is an example of a personal stressor?

A.
a hurricane that destroys a small town

B.
going through a painful relationship breakup

C.
being late for work due to a flat tire

D.
having one’s favorite team win a championship

15. A client appears in a psychologist’s office complaining of high anxiety, emotional apathy, difficulty concentrating, and insomnia. He reports that six months earlier he had been attacked in his office by an angry co-worker. The client’s symptoms and history are in keeping with a diagnosis of

A.
major depressive disorder.

B.
learned helplessness.

C.
obsessive-compulsive disorder.

D.
post-traumatic stress disorder.

16. For months after he was caught in an apartment house that collapsed during an earthquake, Drew continued to experience flashbacks of the quake, nightmares, and sudden unexplainable bouts of anxiety. Drew was probably experiencing symptoms of

A.
flashback anxiety syndrome.

B.
personal stress reaction.

C.
post-traumatic stress disorder.

D.
background stress response.

18. A city government has installed three new traffic signals along the route traveled each day by a commuter, which adds five minutes to her travels. This is an example of a(n)

A.
personal stressor.

B.
inoculation for stress.

C.
background stressor. 

D.
cataclysmic event. 

19. While trying to study for a final exam, John has trouble concentrating because his roommates are shouting while playing a noisy video game.  John is likely experiencing a

A.
cataclysmic event.

B.
personal stressor.

C.
background stressor.

D.
negated uplift.

21. Joyce feels better after eating lunch in a bakery that is filled with the pleasant smells of desserts baking.  The pleasant surrounding is a(n) _____ for Joyce.

A.
uplift

B.
Type A setting

C.
self‑actualizing experience 

D.
hassle antidote 

22. It was a good day for Jennifer. Not only did she “ace” her chemistry exam, but she was invited to her friend’s house for the weekend, offered a job she interviewed for, and bought a winning $5 lottery ticket. In terms of the psychology of stress and coping, Jennifer would receive a high score for the day on a measure of

A.
alarm.

B.
uplifts.

C.
resistance.

D.
hardiness.

30. Which of the following accurately describes the sequence of the general adaptation syndrome?

A.
alarm, resistance, and challenge

B.
primary appraisal, alarm, secondary appraisal

C.
challenge, frustration, and exhaustion

D.
alarm, resistance, and exhaustion36. Sharon believes that stress has a number of direct physiological effects, and that it can lead people to behave in ways that harm their health (e.g., poor nutrition or failure to adhere to an exercise program).  Sharon would find like-minded professionals in the field of

A.
behavioral neuroscience.

B.
forensic psychology.

C.
psychoneuroimmunology.

D.
social psychology.

37. Helen is having trouble in her marriage. Whenever friends or relatives ask her how she is doing, she either responds with a joke, or tells them that everything is all right. What coping strategy is she most likely using?

A.
problem-focused

B.
positive thinking

C.
emotion-focused

D.
learned helplessness

39. In a mass‑disaster preparedness training course, funeral directors are taught how to regulate their feelings even during very tragic conditions. The training course promotes

A.
emotion‑focused coping.

B.
problem‑focused coping.

C.
resistance against defense mechanisms. 

D.
Type A coping behavior. 

40. Which of the following best describes problem-focused coping?

A.
employing psychological defense mechanisms

B.
rationalizing the stressful situation

C.
avoiding the stress-producing situation

D.
attacking the stressful problem directly

46. According to Martin Seligman, when people feel that they have no control over what happens to them, they may experience

A.
background stress.

B.
wishful thinking.

C.
learned helplessness.

D.
avoidant coping.

54. The term “Type A behavior pattern” applies to an individual who

A.
has a relaxed and carefree approach to new situations.

B.
demonstrates defensive tendencies to avoid conflict.

C.
has a hard-driving and competitive personality.

D.
has high levels of practical intelligence.

55. Janice is usually a relaxed and easygoing person. She rarely becomes upset, and she takes things in stride. Janice could be described best as a(n)

A.
detached personality.

B.
Type A personality.

C.
Type B personality.

D.
passive personality.

61. Which personality characteristic was shown in the research on the Type A behavior pattern to be most predictive of heart disease?

A.
introversion

B.
hardiness

C.
hostility

D.
agreeableness

Reminder: Know the 3 major conflicts: approach approach, avoidance avoidance, approach avoidance

